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(��-074-23) 

 

� Eоот6етEт688 Eо Eт4тLе9 6 $едеD4лL=о7о 74ко=4 от 21 =оO5DO 1995 7. N 170-$� "О5 
8EполL7о64=88 4то<=о9 M=еD788", подпу=кто< 5.2.2.1 пу=кт4 5 �оло6е=8O о $едеD4лL=о9 Eлу65е 
по Mколо78GеEко<у, теE=оло78GеEко<у 8 4то<=о<у =4д7оDу, ут6еD6де==о7о поEт4=о6ле=8е< 
�D468телLEт64  оEE89Eко9 $едеD4F88 от 30 8NлO 2004 7. N 401, пD8к47K64N: 

ут6еDд8тL пD8л474е<Kе DедеD4лL=Kе =оD<K 8 пD468л4 6 о5л4Eт8 8EполL7о64=8O 4то<=о9 
M=еD788 "&Dе5о64=8O к пл4=8Dо64=8N 8 о5еEпеGе=8N 7ото6=оEт8 к л8к68д4F88 поEледEт689 
464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE <4теD84ло6" (��-074-23). 
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I. �47=4че=8е 8 о5л4Eть пD8<е=е=8O 

 

1. �4EтоOI8е �D468л4 уEт4=46л864Nт тDе5о64=8O к пл4=8Dо64=8N 8 о5еEпеGе=8N 
7ото6=оEт8 к л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  � (пеDеGе=L 
EокD4Iе=89 пD86еде= 6 пD8ло6е=88 N 1, теD<8=K 8 опDеделе=8O - 6 пD8ло6е=88 N 2 к 
=4EтоOI8< �D468л4<). 
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2. �4EтоOI8е �D468л4 D4EпDоEтD4=ONтEO =4: 

7Dу7оотпD468теле9; 

7Dу7ополуG4теле9; 

пеDе6о7G8ко6; 

оD74=874F88, оEуIеEт6лONI8е по7Dу7оG=о-D477Dу7оG=уN деOтелL=оEтL пD8<е=8телL=о к 
7Dу74<  �; 

�!$; 

оD74=874F88, от=оEOI8еEO 6 Eоот6етEт688 E поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 
$едеD4F88 от 30 дек45DO 2003 7. N 794 "О ед8=о9 7оEуд4DEт6е==о9 E8Eте<е пDедупDе6де=8O 8 
л8к68д4F88 GDе76KG49=KE E8ту4F89" к ед8=о9 7оEуд4DEт6е==о9 E8Eте<е пDедупDе6де=8O 8 
л8к68д4F88 GDе76KG49=KE E8ту4F89. 

3. �4EтоOI8е �D468л4 =е D4EпDоEтD4=ONтEO =4 деOтелL=оEтL, E6O74==уN E л8к68д4F8е9 
поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  � 6ое==о7о =47=4Gе=8O. 
 

II. О5щ8е тDе5о64=8O 

 

4. � FелOE л8к68д4F88 поEледEт689 464D89, 6о7<о6=KE пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �, 
дол6=о оEуIеEт6лOтLEO пл4=8Dо64=8е 8 о5еEпеGе=8е 7ото6=оEт8 к л8к68д4F88 поEледEт689 
464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �. 

5. �л4=8Dо64=8е 8 о5еEпеGе=8е 7ото6=оEт8 к л8к68д4F88 поEледEт689 464D89 пD8 
тD4=EпоDт8Dо64=88 7Dу7о6  � оEуIеEт6лOетEO путе<: 

D47D45отк8 �Л�; 

о5еEпеGе=8O 7ото6=оEт8 E8л 8 EDедEт6 к л8к68д4F88 поEледEт689 464D89 пD8 
тD4=EпоDт8Dо64=88 7Dу7о6  �, 6 то< G8Eле Dе4л874F88 пеD68G=KE де9Eт689, пDедп8E4==KE 
464D89=K<8 к4DтоGк4<8 =4 7Dу7K  � (Dеко<е=дуе<Kе о5D47FK 464D89=KE к4DтоGек =4 7Dу7K  � 
6 7468E8<оEт8 от 8EполL7уе<о7о длO 7Dу74  � =о<еD4 ОО� пD86еде=K 6 пD8ло6е=88 N 3 к 
=4EтоOI8< �D468л4<). 

�о<еD4 ОО�, 8EполL7уе<Kе длO о5о7=4Gе=8O 6еIеEт64 8л8 7DуппK 6еIеEт6, пD8<е=ONтEO 6 
Eоот6етEт688 E пеDеG=е<, пD86еде==K< 6 пD8ло6е=88 N 7 к DедеD4лL=K< =оD<4< 8 пD468л4< 6 
о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 "�D468л4 5е7оп4E=оEт8 пD8 тD4=EпоDт8Dо64=88 
D4д8о4кт86=KE <4теD84ло6" (��-053-16), ут6еD6де==K< пD8к47о<  оEтеE=4д7оD4 от 15 Eе=тO5DO 
2016 7. N 388 (74Dе78EтD8Dо64= �8=NEто<  оEE88 24 O=64DO 2017 7., Dе78EтD4F8о==K9 N 45375), E 
87<е=е=8O<8, 6=еEе==K<8 пD8к47о<  оEтеE=4д7оD4 от 5 октO5DO 2020 7. N 385 (74Dе78EтD8Dо64= 
�8=NEто<  оEE88 5 =оO5DO 2020 7., Dе78EтD4F8о==K9 N 60764) (д4лее - ��-053-16). 

 

III. &Dе5о64=8O к пл4=4< оD74=874ц88 D45от по л8к68д4ц88 

поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  � 

 

6. �Л� дол6е= 5KтL D47D45от4= 7Dу7оотпD468теле< 8л8 дDу7о9 оD74=874F8е9, 
от6етEт6е==о9 74 Dе4л874F8N <еDопD8Oт89 (7Dу7ополуG4теле<, пеDе6о7G8ко<, �!$) (т8по64O 
EтDуктуD4 �Л� пD86еде=4 6 пD8ло6е=88 N 4 к =4EтоOI8< �D468л4<). 

7. �Л� дол6е= 5KтL ут6еD6де= D47D45отG8ко< 8 Eо7л4Eо64= до оEуIеEт6ле=8O пеDе6о7к8 
7Dу7о6  � E �оEуд4DEт6е==о9 коDпоD4F8е9 по 4то<=о9 M=еD788 " оE4то<", Dе78о=4лL=K<8 
464D89=K<8 DоD<8Dо64=8O<8 MкEплу4т8DуNI8E оD74=874F89 8 7Dу7оотпD468теле< (по е7о 
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тDе5о64=8N). 

8. � �Л� дол6е= 5KтL пD86еде= пеDеGе=L D47DеHе==KE к тD4=EпоDт8Dо64=8N 7Dу7о6  � 8 
Eоот6етEт6уNI8E 8< =о<еDо6 ОО�. 

9. � �Л� дол6е= 5KтL пD86еде= поDOдок опо6еIе=8O 8 8=DоD<8Dо64=8O оD74=874F89 6 
Eоот6етEт688 E 464D89=о9 к4DтоGко9 =4 7Dу7K  � 8 EеDт8D8к4то<-D47DеHе=8е< =4 
тD4=EпоDт8Dо64=8е (пеDе6о7ку) 7Dу7о6  �, 4 т4к6е оD74=о6 <еEт=о7о E4<оупD46ле=8O, 
Eоот6етEт6уNI8E оD74=о6 7оEуд4DEт6е==о7о Dе7ул8Dо64=8O 5е7оп4E=оEт8, 6 то< G8Eле оD74=о6 
DедеD4лL=о7о 7оEуд4DEт6е==о7о E4=8т4D=о-Mп8де<8оло78GеEко7о ко=тDолO (=4д7оD4), 
DоD<8Dо64=89 7D46д4=Eко9 о5оDо=K, 4 т4к6е теDD8тоD84лL=KE оD74=о6 �Ч!  оEE88 (7л46=KE 
упD46ле=89 �Ч!  оEE88 по Eоот6етEт6уNI8< Eу5Jект4<  оEE89Eко9 $едеD4F88) о 6о7=8к=о6е=88 
464D88 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �. 

10. � �Л� дол6е= 5KтL пD86еде= пеDеGе=L <4теD84лL=о-теE=8GеEк8E EDедEт6, 8EполL7уе<KE 
длO л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �. 

11. � �Л� дол6=K 5KтL опDеделе=K 6о7<о6=Kе к4те7оD88 464D89 E тD4=EпоDт8Dуе<K<8 
7Dу74<8  �, кл4EE8D8F8Dо64==KE 6 Eоот6етEт688 E тDе5о64=8O<8 пу=кт4 7.1.2 ��-053-16. 

12. �лO 464D89 I к4те7оD88 <1> 6 �Л� дол6=K 5KтL опDеделе=K <еDопD8Oт8O, пDо6од8<Kе 
EопDо6о6д4NI8< пеDEо=4ло< 8л8 пеDEо=4ло< пеDе6о7G8к4 8 пеDEо=4ло< оD74=874F89, 
оEуIеEт6лONI8E по7Dу7оG=о-D477Dу7оG=уN деOтелL=оEтL пD8<е=8телL=о к 7Dу74<  �, 6 то< G8Eле 
6 EлуG4е отEутEт68O EопDо6о6д4NIе7о пеDEо=4л4 (8л8 =еEпоEо5=оEт8 EопDо6о6д4NIе7о 
пеDEо=4л4 6 Dе7улLт4те 464D88 оEуIеEт6лOтL =ео5Eод8<Kе де9Eт68O), 8л8 8E Eо6<еEт=Kе 
де9Eт68O по: 

-------------------------------- 

<1> �у=кт 7.1.2.1 ��-053-16. 

 

687у4лL=о<у уEт4=о6ле=8N Eтепе=8 по6Dе6де=8O 7Dу74; 

опо6еIе=8N 8 8=DоD<8Dо64=8N оD74=874F89 6 Eоот6етEт688 E 464D89=о9 к4DтоGко9 =4 
7Dу7K  � 8 EеDт8D8к4то<-D47DеHе=8е< =4 тD4=EпоDт8Dо64=8е (пеDе6о7ку) 7Dу74  �; 

6K7о6у к <еEту 464D88 пDедEт468телO 7Dу7оотпD468телO (7Dу7ополуG4телO 6 EлуG4е 
отEутEт68O EопDо6о6д4NIе7о пеDEо=4л4 (8л8 =еEпоEо5=оEт8 EопDо6о6д4NIе7о пеDEо=4л4 6 
Dе7улLт4те 464D88 оEуIеEт6лOтL =ео5Eод8<Kе де9Eт68O); 

пDо6еDке 8 6оEEт4=о6ле=8N (пD8 =ео5Eод8<оEт8) D4Eполо6е=8O 8 кDепле=8O 7Dу7о6; 

пD8=Oт8N DеHе=8O о 6о7<о6=оEт8 пеDе6о7к8 7Dу7о6  � E EоEт46ле=8е< 4кт4 о5 464D88 пD8 
тD4=EпоDт8Dо64=88 7Dу7о6  � E пD8ло6е=8е< к =е<у пDотокол4 (к4Dто7D4<<K) 
D4д8о<етD8GеEко7о ко=тDолO 7Dу7о6  �. 

13. �D86еде==Kе 6 �Л� <еDопD8Oт8O по л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88 
<2> дол6=K 5KтL опDеделе=K E уGето< EледуNI8E Mт4по6 8E 6Kпол=е=8O: 

-------------------------------- 

<2> �у=ктK 7.1.2.2 8 7.1.2.3 ��-053-16. 

 

пеD6K9 Mт4п от <о<е=т4 6о7=8к=о6е=8O 464D88 до <о<е=т4 пD85Kт8O к <еEту 464D88 �!$ 
(8л8 дDу7о9 оD74=874F88, ук474==о9 6 �Л�); 
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6тоDо9 Mт4п от <о<е=т4 пD85Kт8O �!$ (8л8 дDу7о9 оD74=874F88, ук474==о9 6 �Л�) к <еEту 
464D88 до <о<е=т4 6оEEт4=о6ле=8O ко=тDолO =4д 7Dу7о<  � 8 л8к68д4F88 поEледEт689 464D88; 

тDет89 Mт4п от <о<е=т4 око=G4=8O D45от по 6оEEт4=о6ле=8N ко=тDолO =4д 7Dу7о<  �, 
л8к68д4F88 поEледEт689 464D88 8 пD8=Oт8O DеHе=8O о 6о7<о6=оEт8 д4лL=е9Hе9 пеDе6о7к8 до 
Dе458л8т4F88 теDD8тоD89, под6еD7H8EEO D4д8о4кт86=о<у 747DO7=е=8N. 

14. �еDопD8Oт8O по л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88 =4 пеD6о< Mт4пе 
дол6=K 6Kпол=OтLEO EопDо6о6д4NI8< пеDEо=4ло<, пеDEо=4ло< пеDе6о7G8к4 8 пеDEо=4ло< 
оD74=874F89, оEуIеEт6лONI8E по7Dу7оG=о-D477Dу7оG=уN деOтелL=оEтL пD8<е=8телL=о к 7Dу74< 
 �, 6 то< G8Eле 6 EлуG4е отEутEт68O EопDо6о6д4NIе7о пеDEо=4л4 (8л8 =еEпоEо5=оEт8 
EопDо6о6д4NIе7о пеDEо=4л4 6 Dе7улLт4те 464D88 оEуIеEт6лOтL =ео5Eод8<Kе де9Eт68O). 

15. �еDопD8Oт8O по л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88 =4 пеD6о< Mт4пе 
дол6=K 6клNG4тL 6 Eе5O де9Eт68O, пDедуE<отDе==Kе 464D89=K<8 к4DтоGк4<8 =4 7Dу7K  �, 
6клNG4O: 

ок474=8е пеD6о9 по<оI8 до ок474=8O <ед8F8=Eко9 по<оI8 поEтD4д46H8<; 

пD8=Oт8е <еD по пDедот6D4Iе=8N 8л8 туHе=8N по64D4; 

пDо6еде=8е пDед64D8телL=о9 оFе=к8 поEледEт689 464D88 8 уEт4=о6ле=8е ее к4те7оD88; 

уEт4=о6ле=8е 7о=K 464D88 6 Eоот6етEт688 E 464D89=K<8 к4DтоGк4<8 =4 7Dу7K  �; 

опо6еIе=8е 8 8=DоD<8Dо64=8е (6 то< G8Eле E 8EполL7о64=8е< EDедEт6 д4лL=е9 E6O78) 
оD74=874F89 6 Eоот6етEт688 E 464D89=о9 к4DтоGко9 =4 7Dу7K  � 8 EеDт8D8к4то<-D47DеHе=8е< =4 
тD4=EпоDт8Dо64=8е (пеDе6о7ку) 7Dу74  �, 4 т4к6е оD74=о6 <еEт=о7о E4<оупD46ле=8O, оD74=о6 
7оEуд4DEт6е==о7о Dе7ул8Dо64=8O 5е7оп4E=оEт8, 6 то< G8Eле оD74=о6 DедеD4лL=о7о 
7оEуд4DEт6е==о7о E4=8т4D=о-Mп8де<8оло78GеEко7о ко=тDолO (=4д7оD4), DоD<8Dо64=89 
7D46д4=Eко9 о5оDо=K; 

пDедот6D4Iе=8е 6л8O=8O дDу78E оп4E=KE 7Dу7о6 =4 6о7<о6=ое у6ел8Gе=8е <4EHт45о6 8 
поEледEт689 464D88; 

687у4лL=ое уEт4=о6ле=8е Eтепе=8 по6Dе6де=8O 7Dу74; 

пD8=Oт8е пеD68G=KE <еD по пDедупDе6де=8N D4768т8O D4д84F8о==о9 464D88 8 ее 
поEледEт689; 

пDо6еде=8е уGет4 л8F, котоDKе <о7л8 под6еD7=утLEO D4д84F8о==о<у 6о7де9Eт68N =4 <еEте 
464D88. 

16. �еDопD8Oт8O по л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88 =4 6тоDо< Mт4пе 
дол6=K 6Kпол=OтLEO =еHт4т=K<8 �!$ 7Dу7оотпD468телO (8л8 дDу7о9 оD74=874F8е9, ук474==о9 6 
�Л�) 8 (8л8) Dе78о=4лL=K<8 464D89=K<8 DоD<8Dо64=8O<8 MкEплу4т8DуNI8E оD74=874F89. 

17. �еDопD8Oт8O по л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88 =4 6тоDо< Mт4пе 
дол6=K 6клNG4тL: 

о5еEпеGе=8е поEтоO==о7о D4д84F8о==о7о ко=тDолO о5Eт4=о6к8 6 7о=е 464D88 (7D4=8FK 7о=K 
464D88 <о7ут 5KтL утоG=е=K по Dе7улLт4т4< D4д84F8о==о7о ко=тDолO); 

пDо6еде=8е 8=д868ду4лL=о7о до78<етD8GеEко7о ко=тDолO пеDEо=4л4; 

о7D46де=8е 7о=K 464D88 E уEт4=о6ко9 7=4ко6 D4д84F8о==о9 оп4E=оEт8 8 8EклNGе=8е 
Eо6<еEт=о E оD74=4<8 <еEт=о7о E4<оупD46ле=8O E6о5од=о7о доEтуп4 =4Eеле=8O 8 D45от=8ко6 



(пеDEо=4л4), =е 74де9Eт6о64==о7о 6 <еDопD8Oт8OE по л8к68д4F88 поEледEт689 464D88, 6 7о=у 
464D88; 

оFе=ку <етеоDоло78GеEк8E уEло689 (6клNG4O полуGе=8е д4==KE о =4пD46ле=88 6етD4); 

уEт4=о6ле=8е =4 7D4=8Fе 7о=K 464D88 E =46етDе==о9 EтоDо=K � К длO ко=тDолO 74 
уEт4=о6ле==K< поDOдко< 6Jе7д4 (6Eод4) 6 7о=у 464D88 8 6Kе7до< (6KEодо<) 87 =ее; 

о5оDудо64=8е =4 � К <еEт длO пDо6еде=8O де74кт864F88 тD4=EпоDт=KE EDедEт6, !��, <еEт 
пDо6еде=8O E4=8т4D=о9 о5D45отк8 D45от=8ко6 (пеDEо=4л4) 8 =4Eеле=8O (пD8 =ео5Eод8<оEт8); 

E5оD 8=DоD<4F88 о D47<еIе=88 =4Eеле=8O, 6одое<о6, о5еEпеGе=88 доEтуп4 =4 теDD8тоD8N 
464D88; 

Eо7д4=8е 6Dе<е==о9 E8Eте<K 5е7оп4E=о7о о5D4Iе=8O E 747DO7=е==K<8 !�� 8 
о5оDудо64=8е<. 

18. �D8 доEт86е=88 =86еEледуNI8E уEло689 <еDопD8Oт8O, пDедуE<отDе==Kе 6тоDK< 
Mт4по< л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88, EG8т4NтEO 746еDHе==K<8: 

пDедот6D4Iе=о д4лL=е9Hее D4768т8е D4д84F8о==о9 464D88 8 ее поEледEт689 
(6оEEт4=о6ле= ко=тDолL =4д 7Dу7о<  �); 

пDо6еде=4 де74кт864F8O оде6дK, о5у68, !�� 8 ко6=KE покDо6о6 пеDEо=4л4; 

пDо6еде=4 де74кт864F8O 6=еH=8E по6еDE=оEте9 7Dу74  � 8 тD4=EпоDт=о7о EDедEт64. 

19. �оEле 746еDHе=8O <еDопD8Oт89, пDедуE<отDе==KE 6тоDK< Mт4по< л8к68д4F88 
поEледEт689 464D89 II 8 III к4те7оD88, 6 D4<к4E тDетLе7о Mт4п4 Dуко6од8телL D45от по л8к68д4F88 
поEледEт689 464D89 дол6е=: 

о5еEпеG8тL де74кт864F8N 7о=K 464D88 (D4д8о<етD8GеEк8< ко=тDоле< дол6=4 5KтL 
подт6еD6де=4 доEт4тоG=оEтL 6Kпол=е==KE <еDопD8Oт89), 6клNG4O Eоот6етEт6уNI8е уG4Eтк8 
46то<о58лL=о9 доDо78 8 6еле7=одоDо6=KE путе9 длO 6оEEт4=о6ле=8O доDо6=о7о д686е=8O; 

ут6еDд8тL 4кт о л8к68д4F88 D4д84F8о==KE поEледEт689 464D88 E пD8ло6е=8е< к =е<у 
пDотокол4 (к4Dто7D4<<K) D4д8о<етD8GеEко7о ко=тDолO 7о=K 464D88 8 о5Jекто6, под6еD7H8EEO 
747DO7=е=8N; 

пD8=OтL Eо6<еEт=о E 7Dу7оотпD468теле< (л85о 7Dу7ополуG4теле<) DеHе=8е о 6о7<о6=оEт8 
пеDе6о7к8 7Dу74  �, 6 то< G8Eле E 8EполL7о64=8е< дDу7о7о тD4=EпоDт=о7о EDедEт64 (пD8 
=ео5Eод8<оEт8); 

6оEEт4=о68тL доDо6=ое д686е=8е GеDе7 7о=у 464D88; 

пDо8=DоD<8Dо64тL оD74=K <еEт=о7о E4<оупD46ле=8O о Dе7улLт4т4E л8к68д4F88 
D4д84F8о==о9 464D88 8 отEутEт688 D4д84F8о==о9 оп4E=оEт8 длO =4Eеле=8O; 

пеDед4тL оD74=4< <еEт=о7о E4<оупD46ле=8O Eп8Eк8 л8F 87 =4Eеле=8O, под6еD7H8EEO 6 
Dе7улLт4те D4д84F8о==о9 464D88 D4д84F8о==о<у 6о7де9Eт68N E6KHе пDедело6 до7, 
уEт4=о6ле==KE =оD<4<8 D4д84F8о==о9 5е7оп4E=оEт8 длO Mто9 к4те7оD88 о5луG4е<KE л8F (длO 
DеHе=8O 6опDоE4 о =4пD46ле=88 8E =4 EпеF84л878Dо64==ое <ед8F8=Eкое о5Eледо64=8е); 

пеDед4тL Dуко6од8телO< оD74=874F89, GL8 D45от=8к8 уG4Eт6о64л8 6 пеDе6о7ке 7Dу74 8 (8л8) 
л8к68д4F88 D4д84F8о==KE поEледEт689 464D88, Eп8Eк8 л8F, под6еD7H8EEO D4д84F8о==о<у 
6о7де9Eт68N E6KHе пDедело6 до7, уEт4=о6ле==KE =оD<4<8 D4д84F8о==о9 5е7оп4E=оEт8 длO Mто9 
к4те7оD88 о5луG4е<KE л8F (пD8 =ео5Eод8<оEт8 8E =4пD46ле=8O =4 EпеF84л878Dо64==ое 



<ед8F8=Eкое о5Eледо64=8е). 

20. �Л� дол6е= пеDеE<4тD864тLEO =е Dе6е од=о7о D474 6 5 лет, 4 т4к6е по Dе7улLт4т4< 
D4EEледо64=8O 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �, пD8 87<е=е=88 уEло689 
тD4=EпоDт8Dо64=8O 7Dу7о6  �. 
 

IV. &Dе5о64=8O к о5еEпече=8N 7ото6=оEт8 к л8к68д4ц88 

поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  � 

 

21. ! �Л� дол6=K 5KтL о7=4ко<ле=K 6Eе EтDуктуD=Kе подD47деле=8O (пеDEо=4л) 
7Dу7оотпD468телO 8л8 дDу7о9 оD74=874F88, от6етEт6е==о9 74 Dе4л874F8N <еDопD8Oт89 6 
Eоот6етEт688 E �Л� (7Dу7ополуG4телL, пеDе6о7G8к, �!$), уG4Eт8е котоDKE <о6ет потDе5о64тLEO 
пD8 пDо6еде=88 D45от по л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �. 

22. �Dу7оотпD468телL (8л8 дDу74O ук474==4O 6 �Л� оD74=874F8O, от6етEт6е==4O 74 
Dе4л874F8N <еDопD8Oт89 6 Eоот6етEт688 E �Л�) дол6е= пDо8=DоD<8Dо64тL пеDе6о7G8к4 8 (8л8) 
оD74=874F88, оEуIеEт6лONI8е по7Dу7оG=о-D477Dу7оG=уN деOтелL=оEтL пD8<е=8телL=о к 7Dу74< 
 �, о <еDопD8Oт8OE по л8к68д4F88 поEледEт689 464D89 II 8 III к4те7оD88, котоDKе =ео5Eод8<о 
6Kпол=8тL =4 пеD6о< Mт4пе, 8 пеDед4тL 464D89=уN к4DтоGку =4 7Dу7K  �. 

23. �Dу7оотпD468телL (8л8 дDу74O ук474==4O 6 �Л� оD74=874F8O, от6етEт6е==4O 74 
Dе4л874F8N <еDопD8Oт89 6 Eоот6етEт688 E �Л�) O6лOетEO от6етEт6е==K< 74 оD74=874F8N D45отK 
E6о8E =еHт4т=KE �!$ 8 8E о5еEпеGе=8е <4теD84лL=о-теE=8GеEк8<8 EDедEт64<8, =ео5Eод8<K<8 
длO л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �, 6 о5Jе<е, 
пDедуE<отDе==о< Eоот6етEт6уNI8< �Л�. 

24. �еDед оEуIеEт6ле=8е< деOтелL=оEт8 по отпD46ке 7Dу7о6  � 7Dу7оотпD468телL дол6е= 
пDо8=DоD<8Dо64тL Dе78о=4лL=Kе 464D89=Kе DоD<8Dо64=8O MкEплу4т8DуNI8E оD74=874F89 о 
=4G4ле оEуIеEт6ле=8O т4ко9 деOтелL=оEт8 8 Dе78о=4E, по теDD8тоD8O< котоDKE 5удет 
оEуIеEт6лOтLEO тD4=EпоDт8Dо64=8е 7Dу7о6  �. 

25. 'Eло68O пD86леGе=8O Dе78о=4лL=KE 464D89=KE DоD<8Dо64=89 MкEплу4т8DуNI8E 
оD74=874F89 длO пDо6еде=8O D45от по л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 
7Dу7о6  � опDеделе=K �D468л4<8 DоD<8Dо64=8O, Dу=кF8о=8Dо64=8O 8 D8=4=E8Dо64=8O 
Dе78о=4лL=KE 464D89=KE DоD<8Dо64=89 MкEплу4т8DуNI8E оD74=874F89, 8EполL7уе<KE длO 
л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо6ке OдеD=KE <4теD84ло6 8 D4д8о4кт86=KE 
6еIеEт6, ут6еD6де==K<8 поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 20 8N=O 1997 
7. N 761. 

26.  уко6одEт6о D45от4<8 по л8к68д4F88 поEледEт689 464D89 пD8 тD4=EпоDт8Dо64=88 
7Dу7о6  � дол6=о оEуIеEт6лOтLEO 6 Eоот6етEт688 E поло6е=8O<8, пDедуE<отDе==K<8 Eт4тLе9 14 

$едеD4лL=о7о 74ко=4 от 22 467уEт4 1995 7. N 151-$� "О5 464D89=о-Eп4E4телL=KE Eлу654E 8 Eт4туEе 
Eп4E4теле9". 

27. �еDEо=4л 7Dу7оотпD468телO, 7Dу7ополуG4телO, пеDе6о7G8к4, оD74=874F89, 
оEуIеEт6лONI8E по7Dу7оG=о-D477Dу7оG=уN деOтелL=оEтL пD8<е=8телL=о к 7Dу74<  �, 8 �!$ 
дол6е= 5KтL о5уGе= 8 под7ото6ле= к 6Kпол=е=8N тDе5уе<KE от =е7о де9Eт689 6 EлуG4е 
6о7=8к=о6е=8O 464D88 пD8 тD4=EпоDт8Dо64=88 7Dу7о6  �. 

28. �лO отD45отк8 де9Eт689 пеDEо=4л4 по л8к68д4F88 поEледEт689 464D89 пD8 
тD4=EпоDт8Dо64=88 7Dу7о6  � 7Dу7оотпD468теле< (8л8 дDу7о9 ук474==о9 6 �Л� оD74=874F8е9, 
от6етEт6е==о9 74 Dе4л874F8N <еDопD8Oт89 6 Eоот6етEт688 E �Л�) дол6=K пDо6од8тLEO 
пDот86о464D89=Kе тDе=8Dо6к8 8 уGе=8O 6 Eоот6етEт688 E ут6еD6д4е<K<8 8<8 7D4D8к4<8 =е 
Dе6е од=о7о D474 6 3 7од4. 
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к DедеD4лL=K< =оD<4< 8 пD468л4< 

6 о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 

"&Dе5о64=8O к пл4=8Dо64=8N 8 о5еEпеGе=8N 

7ото6=оEт8 к л8к68д4F88 поEледEт689 464D89 

пD8 тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE 

<4теD84ло6", ут6еD6де==K< пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 11 дек45DO 2023 7. N 446 

 

�� �Ч��0 !ОК �Щ���� 

 

�!$ - 464D89=о-Eп4E4телL=ое DоD<8Dо64=8е; 

7Dу7  � - 7Dу7 D4д8о4кт86=KE <4теD84ло6; 

ОО� - ОD74=874F8O О5Jед8=е==KE �4F89; 

�Л� - пл4= оD74=874F88 D45от по л8к68д4F88 поEледEт689 464D89 пD8 
тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE <4теD84ло6; 

� К - пу=кт D4д84F8о==о7о ко=тDолO; 

 � - D4д8о4кт86=K9 <4теD84л; 

!�� - EDедEт64 8=д868ду4лL=о9 74I8тK. 

 

 

 

 

 

�D8ло6е=8е N 2 

к DедеD4лL=K< =оD<4< 8 пD468л4< 

6 о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 

"&Dе5о64=8O к пл4=8Dо64=8N 8 о5еEпеGе=8N 

7ото6=оEт8 к л8к68д4F88 поEледEт689 464D89 

пD8 тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE 

<4теD84ло6", ут6еD6де==K< пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 11 дек45DO 2023 7. N 446 

 

&� ���/ � О� ���Л���/ 

 

1. �Dу7 - лN54O уп4ко6к4 8л8 лN5Kе уп4ко6к8, 8л8 п4Dт8O D4д8о4кт86=о7о <4теD84л4, 
пDедEт46ле==Kе 7Dу7оотпD468теле< длO пеDе6о7к8. 

2. �Dу7оотпD468телL - лN54O оD74=874F8O, котоD4O под7от46л864ет D4д8о4кт86=K9 <4теD84л 
8 (8л8) уп4ко6к8 длO пеDе6о7к8. 



3. �Dу7ополуG4телL - лN54O оD74=874F8O, упол=о<оGе==4O =4 полуGе=8е 7Dу74. 

4. �о=4 464D88 - теDD8тоD8O, =4 котоDо9 6о7<о6=о D4д8о4кт86=ое 747DO7=е=8е 8л8 
по6KHе==Kе уDо6=8 87луGе=8O 6 EлуG4е 464D88 пD8 тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE 
<4теD84ло6. 

5. �еDе6о7к4 - пеDе<еIе=8е 7Dу74 от <еEт4 отпD46ле=8O к <еEту полуGе=8O. 

6. �еDе6о7G8к - лN54O оD74=874F8O, оEуIеEт6лONI4O пеDе6о7ку D4д8о4кт86=о7о <4теD84л4 
лN5K< 68до< тD4=EпоDт4. 

7.  4д8о4кт86=K9 <4теD84л - Mто лN5о9 <4теD84л, EодеD64I89 D4д8о=укл8дK, длO 
котоDо7о уделL=4O 4кт86=оEтL 8 Eу<<4D=4O 4кт86=оEтL 7Dу74 пDе6KH4Nт 7=4Gе=8O, ук474==Kе 6 
пу=кт4E 1 - 7 пD8ло6е=8O N 2 к ��-053-16. 

8.  4д8о4кт86=ое EодеD68<ое - D4д8о4кт86=K9 <4теD84л 6<еEте E лN5K<8 
D4д8о4кт86=K<8 8л8 4кт868Dо64==K<8 т6еDдK<8 6еIеEт64<8, 68дкоEтO<8 8 7474<8, 
=4EодOI8<8EO 6 уп4ко6оG=о< ко<плекте. 

9. &D4=EпоDт=ое EDедEт6о - 46тодоDо6=ое тD4=EпоDт=ое EDедEт6о (6 то< G8Eле EоEт46=ое 
тD4=EпоDт=ое EDедEт6о, тO74G E полупD8Fепо<, пD8Fеп), 6еле7=одоDо6=4O пл4тDоD<4 л85о 
6еле7=одоDо6=K9 647о=. 

10. 'делL=4O 4кт86=оEтL D4д8о=укл8д4 - 4кт86=оEтL =4 ед8=8Fу <4EEK д4==о7о 
D4д8о=укл8д4. 

11. 'п4ко6к4 - уп4ко6оG=K9 ко<плект E =4EодOI8<EO 6 =е< D4д8о4кт86=K< EодеD68<K< 6 
под7ото6ле==о< длO пеDе6о7к8 68де. 

12. 'п4ко6оG=K9 ко<плект - од=4 8л8 =еEколLко е<коEте9 8 лN5Kе дDу78е ко<по=е=тK 8л8 
<4теD84лK, =ео5Eод8<Kе длO 6Kпол=е=8O Mт8<8 е<коEтO<8 Dу=кF88 удеD64=8O D4д8о4кт86=о7о 
EодеD68<о7о 8 дDу78E Dу=кF89 5е7оп4E=оEт8. 
 

 

 

 

 

�D8ло6е=8е N 3 

к DедеD4лL=K< =оD<4< 8 пD468л4< 

6 о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 

"&Dе5о64=8O к пл4=8Dо64=8N 8 о5еEпеGе=8N 

7ото6=оEт8 к л8к68д4F88 поEледEт689 464D89 

пD8 тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE 

<4теD84ло6", ут6еD6де==K< пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 11 дек45DO 2023 7. N 446 

 

(Dеко<е=дуе<K9 о5D47еF) 
 

�64D89=Kе к4DтоGк8 =4 7Dу7K D4д8о4кт86=KE <4теD84ло6 
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��� ����Я К� &ОЧК� N 701 

- �лO пеD68G=KE D45от пD8 464D88 E 7Dу74<8  � =4 46то<о58лL=о<, 6еле7=одоDо6=о<, 
6о7дуH=о< 8 6од=о< тD4=EпоDте 

-  уко6одEт6о D45от4<8 по о5D4Iе=8N E 7Dу74<8  � до пD85Kт8O �!$ 7Dу7оотпD468телO 8 
(8л8) �оEкоDпоD4F88 " оE4то<" оEуIеEт6лOет л8Fо, EопDо6о6д4NIее 7Dу7, 8л8 =4G4лL=8к 
оED4=K 7Dу74, пD8 8E отEутEт688 (=еEпоEо5=оEт8 6 Dе7улLт4те 464D88 оEуIеEт6лOтL 
=ео5Eод8<Kе де9Eт68O) - Eт4DH8е 87 D45от=8ко6 тD4=EпоDт4, по64D=о-Eп4E4телL=о7о 
подD47деле=8O, �!$ оD74=о6 <еEт=о7о E4<оупD46ле=8O, пD85K6H8E =4 <еEто 464D88. �4 
5оDту 6о7дуH=о7о 8л8 6од=о7о Eуд=4 D45отK пDо6одOтEO под Dуко6одEт6о< к4п8т4=4 
Eуд=4 

Оп4E=K9 7Dу7 кл4EE4 7 

 4д8о4кт86=Kе 
<4теD84лK,  � 

�о<еD4 ОО�: 2908, 
2909, 2910, 2911, 2912, 

2913, 2915, 2916, 2917, 

2919, 3321, 3322, 3323, 

3324, 3325, 3326, 3327, 

3328, 3329, 3330, 3331, 

3332, 3333 

-  4д84F8о==4O оп4E=оEтL пD8 464D88 пDедEт46лOет <8=8<4лL=K9 D8Eк. 'п4ко6к8 8л8 
EодеD64т о7D4=8Gе==Kе кол8GеEт64  �, 8л8, пD8 5олLHо< кол8GеEт6е  �, D4EEG8т4=K =4 
E4<Kе тO6елKе тD4=EпоDт=Kе 464D88 8 по64DK. � кD49=е Dедк8E EлуG4OE тDе5уNтEO 
оEо5Kе <еDK 74I8тK 8 туHе=8O по64D4 (пу=кт 8 =4EтоOIе9 464D89=о9 к4DтоGк8) 

 !п4Eе=8е лNде9 8 туHе=8е по64D4 O6лONтEO пD8оD8тет=K<8 де9Eт68O<8 8 
пDо6одOтEO EопDо6о6д4NI8< пеDEо=4ло<, пеDEо=4ло< пеDе6о7G8к4, пеDEо=4ло< 
оD74=874F89, оEуIеEт6лONI8E по7Dу7оG=о-D477Dу7оG=уN деOтелL=оEтL пD8<е=8телL=о к 
7Dу74<  �, 4 т4к6е подD47деле=8O<8 оD74=о6 <еEт=о7о E4<оупD46ле=8O 8 оD74=о6 
7оEуд4DEт6е==о7о Dе7ул8Dо64=8O 5е7оп4E=оEт8, пD85K64NI8E =4 <еEто 464D88 
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 - 7Dу7 (уп4ко6к8) =4Eод8тEO =4 тD4=EпоDт=о< EDедEт6е; 

- G4EтL 8л8 6Eе уп4ко6к8 =4EодOтEO 6=е тD4=EпоDт=о7о EDедEт64; 

- уп4ко6к8 =е по6Dе6де=K 8л8 8<еNт =е7=4G8телL=Kе по6Dе6де=8O 5е7 6KEод4 EодеD68<о7о; 

- уп4ко6к8 8<еNт EеDLе7=Kе по6Dе6де=8O 5е7 68д8<о7о 6KEод4 EодеD68<о7о; 

- уп4ко6к8 8<еNт EеDLе7=Kе по6Dе6де=8O E 68д8<K< 6KEодо< EодеD68<о7о 8л8 D47DуHе=K; 

- уп4ко6к8 =4EодOтEO 8л8 =4Eод8л8EL 6 оG47е по64D4 8л8 67DK64 

5. !оо5I8те по лN5о<у 87 доEтуп=KE к4=4ло6 E6O78 

- �еEто, д4ту 8 6Dе<O 464D88, D4<8л8N Eоо5I86Hе7о 8 Dуко6од8телO пеD68G=KE D45от 
- �о<еD4 ОО�, дDу7уN 8=DоD<4F8N Eо7л4E=о Mт8кетк4< 8 =4дп8EO< =4 7Dу7е 8 тD4=EпоDте 

- !оEтоO=8е 7Dу74 поEле 464D88, Eо7л4E=о п4D4<етD4< по пу=кту 4 6KHе 

- �4л8G8е поEтD4д46H8E 6 Dе7улLт4те 464D88 8 8E EоEтоO=8е 

- К4=4лK (6 то< G8Eле =о<еD телеDо=4) E6O78 E Dуко6од8теле< пеD68G=KE D45от 



!оо5Iе=8O =4пD46лONтEO 6 EледуNI8е оD74=874F88: 
--------------------------------------------------------------- 

- �оEкоDпоD4F8O " оE4то<", тел. 8 (499) 949-23-11 8л8 8 (495) 933-60-44 

- �64D89=о-&еE=8GеEк89 &е=тD (�&&) тел 8 (812) 702-19-00 

- &е=тD тD4=EпоDт=о7о ко=тDолO �О "�то<EпеFтD4=E" 8 (499) 949-44-81, 8 (495) 262-31-08 

- �еEт=Kе оD74=K 6л4Eт8, 7Dу7оотпD468телN 

6. �еDK по пDедот6D4Iе=8N D4768т8O 464D88 

- �D8 D47л86е 68дкоEт8 пD8EKпLте ее пеEко<, 7е<ле9 8л8 дDу78<8 =е7оDNG8<8 <4теD84л4<8 

- �4кDо9те D47DуHе==Kе уп4ко6к8 8 D4EEKп4==Kе <4теD84лK пле=ко9, 5Dе7е=то< 8л8 л8Eт4<8 

- !о7д49те пDе7D4дK (=4EKп8, O<K) длO пDедот6D4Iе=8O поп4д4=8O 6одK, 8EполL7о64==о9 пD8 туHе=88 по64D4, 6 
дDе=46=Kе E8Eте<K 8 6одое<K 

7. �4лL=е9H8е D45отK 

- �D8 =4л8G88 EопDо6о6д4NIе7о (8л8 =4G4лL=8к4 оED4=K) 7Dу74 де9Eт6у9те по е7о ук474=8O< 

- �D8 е7о отEутEт688 поддеD68649те E6O7L E  оE4то<о< 8 (8л8) �&& 8 де9Eт6у9те по 8E ук474=8O< 

- �686е=8е тD4=EпоDт4 GеDе7 7о=у 464D88 D47DеH4етEO толLко по Eо7л4Eо64=8N E  оE4то<о< (�&&) 

8. ОEо5Kе <еDK 5е7оп4E=оEт8 

- �D8 =4л8G88 5ело7о о5л4к4, 6KEодOIе7о 87 уп4ко6к8, уEт4=о68тL 7о=у 464D88 D4д8уEо< 100 <, 6 7о=е 464D88 
=4Eод8тLEO толLко 6 EDедEт64E 74I8тK (пл4Eт8ко6K9 Hле< 8 о5у6L, Dе78=о6Kе пеDG4тк8, пDот86о747), 875е74тL 
=87к8E <еEт, 7де 6о7<о6=о Eк4пл864=8е оп4E=KE 6еIеEт6 

- �D8 туHе=88 по64D4 6 EлуG4е =4л8G8O 5ело7о о5л4к4, 6KEодOIе7о 87 уп4ко6к8, =е =4пD46лO9те =4 уп4ко6ку 6оду 
8 пе=у, туH8те E <4кE8<4лL=о 6о7<о6=о7о D4EEтоO=8O E =46етDе==о9 EтоDо=K 

- �оEле туHе=8O по64D4 8 ок474=8O пеD6о9 по<оI8 поEтD4д46H8< 6Eе< пок8=утL 7о=у 464D88 6 =46етDе==уN 
EтоDо=у =4 300 < до пD85Kт8O EпеF84л8Eто6-D4д8оло7о6 8 (8л8) полуGе=8O ук474=89 от  оE4то<4 (�&&) 



���!&��Я � ����Ы ����&��!КО� �О�ОЩ� �� ��!&� ��� �� 

- Ок468те по<оIL 6 Eоот6етEт688 E 6KO6ле==K<8 тD46<4<8 8 по6Dе6де=8O<8. �о7<о6=ое о5луGе=8е =е 6K7K64ет 
кл8=8GеEк8E пDоO6ле=89 8 =е тDе5ует =е<едле==о7о леGе=8O 

- � EлуG4е ко=т4кт4 поEтD4д46Hе7о E D4д8о4кт86=K< EодеD68<K<, по 6о7<о6=оEт8, E=8<8те E =е7о оде6ду, 
о58лL=о о5<о9те тепло9 6одо9 о5л4Eт8 D4=, о6о7о6, ко6у, 7л474, оде=Lте поEтD4д46Hе7о 6 теплуN оде6ду. �D8 
доEт46ке т4ко7о поEтD4д46Hе7о 6 леGе5=ое уGDе6де=8е уп4ку9те E=OтуN оде6ду 8 о5у6L 6<еEте E дDу78<8 
л8G=K<8 6еI4<8 6 пол8Mт8ле=о6Kе п4кетK 

- !оо5I8те =48<е=о64=8е (4дDеE) 5олL=8FK, куд4 5удут доEт46ле=K поEтD4д46H8е, 8 =о<еD 5D874дK <ед8F8=Eко9 
по<оI8 Dуко6од8телN =4 <еEте 464D88 



 

 

 

 

 

�D8ло6е=8е N 4 

к DедеD4лL=K< =оD<4< 8 пD468л4< 

6 о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 

"&Dе5о64=8O к пл4=8Dо64=8N 8 о5еEпеGе=8N 

7ото6=оEт8 к л8к68д4F88 поEледEт689 464D89 

пD8 тD4=EпоDт8Dо64=88 7Dу7о6 D4д8о4кт86=KE 

<4теD84ло6", ут6еD6де==K< пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 11 дек45DO 2023 7. N 446 
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1. �Л� дол6е= EодеD64тL EледуNI8е D47делK: 

�л464 1. О5I8е поло6е=8O. 

�л464 2. �еDеGе=L 7Dу7о6  � 8 к4те7оD88 464D89. 

�л464 3. ОE=о6=Kе <еE4=87<K 8 оD74=874F8о==4O E8Eте<4 о5еEпеGе=8O 464D89=о7о 
Dе478Dо64=8O. 

�л464 4. ОE=о6=Kе <еDопD8Oт8O 8 от6етEт6е==оEтL. 

�л464 5. �оDOдок де9Eт689 пеDEо=4л4. 

�D8ло6е=8е N 1. �оD<4т86=о-теE=8GеEк8е 8 оD74=874F8о==о-D4EпоDOд8телL=Kе доку<е=тK 
по 464D89=о<у Dе478Dо64=8N. 

�D8ло6е=8е N 2. �еDеGе=L 7Dу7о6  � 8 тD4=EпоDт=KE EDедEт6. 

�D8ло6е=8е N 3. ОD74=874F8о==4O EEе<4 пDедпD8Oт8O по 464D89=о<у Dе478Dо64=8N пD8 
тD4=EпоDт8Dо64=88 7Dу7о6  �. 

�D8ло6е=8е N 4. �оDOдок де9Eт689 по 464D89=о<у Dе478Dо64=8N пD8 тD4=EпоDт8Dо64=88 
7Dу7о6  �. 

2. � 7л46е 4 "ОE=о6=Kе <еDопD8Oт8O 8 от6етEт6е==оEтL по о5еEпеGе=8N 464D89=о7о 
Dе478Dо64=8O" дол6=4 5KтL пDедEт46ле=4 8=DоD<4F8O по: 

под7ото6ке 7Dу7о6  � к тD4=EпоDт8Dо64=8N; 

под7ото6ке EопDо6о6д4NIе7о пеDEо=4л4; 

464D89=K< к4DтоGк4<, 8=EтDукF8O< EопDо6о6д4NIе7о пеDEо=4л4 8 8=EтDукF8O< по 
о5D4Iе=8N E по6Dе6де==K<8 7Dу74<8  �; 

ко=тDолN 74 Eледо64=8е< 7Dу7о6  �; 



E8Eте<е де6уD=о-д8EпетGеDEко9 Eлу65K; 

6748<оде9Eт68N E �оEуд4DEт6е==о9 коDпоD4F8е9 по 4то<=о9 M=еD788 " оE4то<"; 

оE=4Iе=8N 8 о5еEпеGе=8N 7ото6=оEт8 464D89=о7о Dе478Dо64=8O =еHт4т=о7о �!$; 

6748<оде9Eт68N E Dе78о=4лL=K<8 464D89=K<8 DоD<8Dо64=8O<8 MкEплу4т8DуNI8E 
оD74=874F89; 

6748<оде9Eт68N E <еEт=K<8 оD74=4<8 6л4Eт8; 

о5еEпеGе=8N D4д84F8о==о9 5е7оп4E=оEт8 8 D4д84F8о==о7о ко=тDолO. 

3. � 7л46е 5 "�оDOдок де9Eт689 пеDEо=4л4 по 464D89=о<у Dе478Dо64=8N 6 EлуG4е 464D88 пD8 
тD4=EпоDт8Dо64=88 7Dу7о6  �" дол6=4 5KтL пDедEт46ле=4 8=DоD<4F8O по: 

полуGе=8N 8=DоD<4F88 8 8=8F88Dо64=8N D45от по л8к68д4F88 поEледEт689 464D88; 

Mт4п4< пDо6еде=8O D45от по л8к68д4F88 поEледEт689 464D88, оE=о6=K< <еDопD8Oт8O< 8 
8Eпол=8телO<; 

пD8=Oт8N DеHе=8O о 6о7<о6=оEт8 пеDе6о7к8 7Dу74  � поEле л8к68д4F88 поEледEт689 
464D88, уEло68O< пеDе6о7к8 7Dу74  � E <еEт4 464D88; 

746еDHе=8N D45от по 464D89=о<у Dе478Dо64=8N. 
 

 
 

 


